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QUESTION 1

Click the Exhibit button.

AS 60003
SP3

" 172.25.12.0/24
172.25.13.0/24
172.25.14.0/24
172.25.15.0/24

Cffﬂ AS 65512
"L

Referring to the exhibit, you are receiving multiple routes from ISP3 through two EBGP neighbors. You must ensure that
all traffic leaving R1 destined to the networks advertised by ISP3 go through ISP2.

What should you do on R1 to accomplish this task?

A. Create and apply an import policy to set the local preference on routes learned from ISP2 to be lower than those
learned from ISP1.

B. Create and apply an import policy to set the route preference on routes learned from ISP2 to be lower than those
learned from ISP1.

C. Create and apply an import policy to set the route preference on routes learned from ISP2 to be higher than those
learned from ISP1.

D. Create and apply an import policy to set the local preference on routes learned from ISP2 to be higher than those
learned from ISP1.

Correct Answer: D

QUESTION 2
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Click the Exhibit button.
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User-1

—\

R3

Server-1

Referring to the exhibit, traffic from User-1 is being forwarded to Server-1 with DSCP values that must be

written. You must maintain the rewritten DSCP values throughout the network.
Which statement is correct in this scenario?

A. At a minimum, you must rewrite the DSCP values on R1.

B. At a minimum, you must rewrite the DSCP values on R1 and R4.

C. At a minimum, you must rewrite the DSCP values on R1, R2, and R3.

D. At a minimum, you must rewrite the DSCP values on R4.

Correct Answer: AD

QUESTION 3
Which two statements are true about OSPFv3? (Choose two.)
A. OSPFv3 packets are sent using local subnet addressing.

B. OSPFv3 packets are sent using link local addressing.

C. The authentication mechanisms in OSPFv3 are the same mechanisms used in OSPFv2.

D. The authentication mechanisms from OSPFv2 are not present in OSPFv3.

Correct Answer: BD

QUESTION 4
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Click the Exhibit button.

fe-0/0/1 _fL’

R2

U

fe-1/0/0

Area 0.0.0.0

Your network is experiencing congestion across the link between R2 and R3. You must make changes to alleviate traffic
congestion from R3 to R2.

Referring to the exhibit, which two commands would accomplish this task? (Choose two.)

A [edit protocol ospf]
user@R.1#% set reference-bandwidth 10g

B. [edit protocol ospf]
user@R3+# set reference-bandwidth 10g

C. [edit protocols ospf area 0.0.0.0 ]
user@Rl# set interface fe-1/0/1 metric 5

D. [edit protocols ospf area 0.0.0.0 ]
user@R3# set interface fe-1/0/1 metric 5

A.B.C.D.

Correct Answer: BD

QUESTION 5

Click the Exhibit button.
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userfirouter> show route advertising-protocel bgp 10.254.32.2

inet.0: 1400327 destinationsa, 140003Z7 routes (1351350 active,
0 holddown, 1 hidden)

Pref-x Wexthop MED Lelpref L3 path
b B el e e Self 81 T
[=dit]

userfrouterf show policy—optionsz policy-statement export—-to—as8l
term 1 {
trom {

route—filer 1.0.0.0/8 longer;

then accept

1
term 2 |

then reject;

[edit]
userfrouterf show policy-options policy-statement r=ject—routes
term 1 {
from |
route—filter 1.0.0.0/8 exact;

then reject;

[edit]
userfrouterf show protocol kgp
export reject-routes;
group ebap {
export export—to—asil;
peer—as 81;
neighbor 10.254.32.2 {
family inet |

unicast;

You are asked to advertise the 1.0.0.0/8 and 1.5.5.5/32 routes to your 10.254.32.2 BGP peer.

Referring to the exhibit, which configuration change would satisfy this requirement?
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A. Remove the export-to- as81 policy.

B. Change the export-to- as81 policy to or longer.
C. Remove the reject-routes policy.

D. Change the reject-routes policy to longer.

Correct Answer: B
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